
E-BRAKE KIT 
INSTALLATION INSTRUCTIONS 

 

DISCLAIMER 
WARNING: FOR OFFROAD USE ONLY 

INSTALLATION OF ANY COMPONENT OR KIT SHOULD ONLY BE INSTALLED BY PERSONS EXPERI-

ENCED IN THE INSTALLATION AND PROPER OPERATION OF VEHICLE BRAKE SYSTEMS.  BEFORE OP-

ERATING THE VEHICLE, TEST THE BRAKES UNDER CONTROLLED CONDITIONS.  MAKE SEVERAL 

PARKING STOPS IN A SAFE AREA ON FLAT GROUND AND ON INCLINDED SURFACES. 

 

 

 

INTRODUCTION: 

Thank you for purchasing the Spidertrax E-Brake Kit.  As you may notice already, this kit comes with a variety of differ-

ent hardware and parts.  Below is a checklist of the items included with your kit.  Keep this list handy as it will be used 

as an aid in the installation of your product. 

The E-Brake Kit is an extremely powerful parking brake system for your Suzuki Samurai.  It works by attaching a rotor 

to the output flange of the transfer case.  Using a single mechanical spot caliper, the rotor is locked in place preventing 

the rear driveshaft from turning.  By locking the rear drive shaft, the rear wheels will not be able to turn.  The Spidertrax 

E-Brake Kit in four wheel drive will effectively lock all four tires from turning.  For hardcore fourwheelers, keep in 

mind that the rotor in this kit can be vulnerable to damage if not protected.  We strongly recommend protecting the un-

derside of the rotor.  If you have any questions, please call or email us (contact information provided above). 

PART #  DESCRIPTION    QTY 

EB-100  CABLE TAB          1 

EB-101  ROTOR          1 

EB-102  CALIPER MOUNT     1 

EB-107  M8-1.25 x 25mm HEX BOLT    3  

EB-108  M8 LOCK WASHER     3 

EB-109  5/16-18 PRESSURE NUT         2  

EB-111  5/16-18 x 3 HEX BOLT         2 

EB-112  5/16 FLAT WASHER         4  

EB-114  SPRING           1  

EB-120  3/8-16 HEX NUT          3 

EB-117  3/8-16 x 3 HEX BOLT         3 

EB-118  3/8 USS FLAT WASHER         6 

EB-119  POLY BUSHING          12 

EB-123  ROTOR ALIGNMENT RING    1 

EB-124  WILWOOD SPOT CALIPER    1 

EB-127  #50 MASTER LINK     1 

ADDITIONAL  HARDWARE SPECIFIC FOR EARLY DRIVELINE 

 

PART #  DESCRIPTION   QTY 

EB-110  M8 x 1.25-40mm Bolt       4 

EB-113  M8 Nut                                        4 

EB-122  M8 Lock Washer             4 

 

 

 

ADDITIONAL  HARDWARE SPECIFIC FOR LATER DRIVELINE 

 

PART #  DESCRIPTION   QTY 

EB-115  M10 x 1.25-40mm Bolt       4 

EB-116  M10 Nut                                      4   

EB-125  M10 Lock Washer              4 

 

 
REPLACEMENT PADS FOR THE WILWOOD SPOT CALIPER ARE 

AVAILABLE THROUGH SPIDERTRAX. CALL OR EMAIL TO ORDER 

REPLACEMENT PADS USING PART NUMBER EB-126 

 

Contact Spidertrax Inc. 

Web: www.spidertrax.com 

E-mail: tech@spidertrax.com 

Phone: 303.772.0033 



PART 1:  PREPERATION OF VEHICLE BEFORE INSTALLATION OF KIT 

 

1)  Locate a flat level ground  for the installation of the E-Brake Kit.  Chock both the front and back of the rear wheels and disengage 

the e-brake. 

 

2)  Remove all existing e-brake cable mounting points at the 

rear axle.  Also remove the guiding rubber grommet found 

on the floor of the body.   The cable can remain attached to 

the handle.   

 

3)  Mark all driveshaft flanges and the two halves of the 

driveshaft at the slip yoke to ensure that they are reassem-

bled in the same manner. 

 

PART 2:  TRANSFER CASE MOUNTS 

 

1)  Locate the poly-bag in the kit labeled ‘Mounts’ which 

contains the 12 poly bushings.  Repeat steps 2 through 7 

below for all three transfer case mounts. 

 

2)  Loosen the upper and lower nuts on the rubber transfer 

case mount and remove it from the vehicle.   

 

3)  Lift the steel transfer case mount  slightly and place two 

polyurethane bushings between the frame member and the 

steel T-case mount.   The steps in the bushings should be 

opposing each other.  

 

4)  Locate a 3/8-16x3” bolt.  Place a 3/8 washer on it, fol-

lowed by a bushing.  Be sure that the step in the bushing is 

against the washer. 

 

5)  From the bottom slide the bolt through the frame mem-

ber, two bushings and the transfer case mount.   

 

6)  Place a forth bushing on the bolt over the transfer case mount followed by a 3/8” washer and 3/8 type c nut.  Be sure the step in 

the bushing is facing up. 

 

7)  Finally tighten the nut and bolt.  Be sure not to over tighten.  The space between the frame member and the t case mount should 

be 1 1/16”.  Figure 1 shows what the proper assembly should look like. 

 

PART 3:  MOUNTING THE CABLE TAB 

 

1)  For this part, you will need to locate the zinc plated cable tab (the small-

est zinc plated part) along with the 2 5/16-18x3” bolts, matching nuts and 

flat washers.   In addition, you will need a hand drill and a 11/32 drill bit. 

 

2)  Mark the location of the mounting tab on the driver side frame rail as 

shown in Figure 2.  The end of the tape measure should sit up against the 

forward part of the frame member that accommodates the rear spring.  Mark 

a vertical line at 7” from this point. 

 

3)  Mark a horizontal line that is 7/8” below the top of the frame rail.  The 

intersection of this line and the vertical line in will mark the top hole of the 

cable mounting tab. 

 

4)  Mark the second hole location which will be 1” down from the top hole markings made in step 3. 

 

5)  Before drilling, align the cable tab with the two marked locations to verify the alignment. 

 

6)  Now drill the two marked hole locations with the 11/32 drill bit.  It is a good idea to use a center punch prior to drilling.  Try to 

maintain the drill square to the frame rail while drilling.  The drill should pass through the entire frame rail. 

Figure 2 

Figure 1 

LOWER MOUNT BRACKET

EB-117

EB-119

UPPER MOUNT BRACKET

EB-118

EB-120



7)  Mount the cable tab to the outside of the frame rail using the two 5/16-18x3” 

bolts, matching nuts, and the 4 flat washers.   The open end of the tab should be fac-

ing up. 

 

8)  The e-brake cable consists of two separate sections.  The first section extends from 

the e-brake handle to the driver rear brake drum.  The second section is approximately 

3’ long and extends off of the first section to the passenger rear brake drum.  Remove 

the second section from the e-brake cable assembly.  This will leave you with a single 

cable attached to the e-brake handle. 

 

9)  Route the e-brake cable over the frame rail and through the cross member.  The 

cable should then loop around and attach to the cable tab.  Secure the e-brake cable by 

tightening the jam nuts onto the cable tab.  Figure 3 shows how this cable should 

look after it has been routed. 

 

 

 PART 4:  FINAL ASSEMBLY ON THE TRANSFER CASE 

 

1)  Be sure that the rear wheels are chocked properly and the vehicle is on flat ground as mentioned in Part 1.  To assist in the final 

assembly, the transfer case should be in 2H and the transmission should be in neutral.  Now remove the rear drive shaft completely 

from the vehicle. 

 

2)  Locate the four threaded holes that surround the rear output flange of the transfer 

case.  Three of these holes will be used to mount the caliper assembly in part 4.  Since 

these holes have never been used before, spray the holes well with penetrating oil. 

 

3)  Using the remaining two M8x25mm bolts and lock washers, bolt the caliper mount 

to the transfer case using the holes described in #2.  Refer to Figure 4  to ensure  

proper orientation.  Removing the t-case flange makes installtion of these bolts easi-

est.  The spring in this picture is only connected to the caliper mount [it does not con-

nect to the body of the vehicle]. 

 

4)  Locate the aluminum ring and press it into the rear output flange of the transfer 

case making sure that the ring sticks out from the flange at least 1/16”. 

 

5)  Now is a good time to familiarize yourself with your new mechanical spot caliper.  

The caliper is a very simple design.  Only one adjustment screw is used for calibration.  The steel lever arm (arm with 2 holes) actu-

ates the brake pad.  Place the steel lever arm so the pad is in the retract position.  Back out the adjustment  screw to provide enough 

clearance for the thickness of the rotor.  Final calibration will be done in Part 6. 

 

6)  Facing the back of the transfer case, hold the rotor in your right hand with the cham-

fered inner diameter on the rotor facing away from the transfer case.  With your left 

hand, place the caliper over the rotor as shown in Figure 5.  The lever of the caliper 

should be pointing up.  Work the caliper and rotor into place.  The caliper should fit into 

the notches of the floating mount and the rotor should fit over the aluminum ring and 

lay flush on the output flange. Line up the holes on the rotor with the corresponding 

holes on the output flange.  This rotor is designed to accommodate both earlier and later 

Samurai models so only 4 of the 8 holes on the rotor will be used.  

 

7)  Re-attach the drive shaft so that one end lies flush with the surface of the new rotor.  

Use the driveshaft mounting hardware found in the poly-bag labeled ‘Driveshaft’ to 

fasten the driveshaft and rotor to the output flange.  Make sure that the bolt sizes match 

the corresponding hole sizes that will be used on the rotor. The head of the bolts fasten-

ing the rotor and driveshaft should sit on the flange side 8)  Slide the end of the e-brake 

cable over the steel caliper arm so the e-brake cable hole and the top hole of the steel caliper arm line up.  Insert one end of the mas-

ter link through both these holes, fastening the e-brake cable to the steel caliper arm.  The other end of the master link should attach 

to the eyelet of the spring.  Assemble the master link.  The master link should now be connecting the e-brake cable, the steel caliper 

arm, and the spring. 

Figure 3 

Figure 4 

Figure 5 



PART 6:  CALIBRATION OF YOUR  E-BRAKE SETUP 

 

1)  The e-brake handle should be in the down position.  Loosen the jam nut in the back of the caliper and finger tighten the adjust-

ment screw until the pads are in complete contact with the rotor.  Back the adjustment screw out 1/4 to 1/3 of a turn.  Tighten the jam 

nut to lock this position.  At this point the caliper pads should not be exerting clamping force on the rotor and the caliper should have 

some freedom to move.  If the caliper is not free to float, driving the vehicle will cause excess heat to build up in the caliper pads 

causing them to break down. 

 

2)  Take out the slack in the e-brake cable by tightening the adjusting screws at the end of the cable closest to the e-brake handle.  

The e-brake handle should be in the down position.  Do not over tighten the cable as it should NOT exert any force on the caliper and 

spring while the handle is down. 

 

3)  Pull up on the e-brake handle.  The handle should move up approximately 9 clicks.  If the handle moves up to much, the e-brake 

cable tension needs to be tightened.  If the handle moves up to little, the e-brake cable tension needs to be loosened.  If adjusting the 

e-brake cable tension does not bring the number of  clicks to approximately 9, you may need to double check the caliper adjustment.  

When making adjustment to the caliper be sure to follow the guidelines in step #1. 

 

4)  Now that the e-brake has been adjusted,  you should test the e-brake holding force to ensure proper installation.  On flat ground, 

engage the e-brake by pulling on the e-brake handle.  While sitting in the vehicle, have someone attempt to push the vehicle from the 

outside.  If the vehicle cannot be moved, continue testing the holding force of the e-brake on inclined hills to further test proper in-

stallation.  The E-Brake Kit is intended to be used as a parking brake system.  Unless in an emergency, do not attempt to apply the e-

brake handle when the vehicle is in motion.  Doing so could cause serious damage to the transfer case and the caliper.  Also, when 

initially driving the vehicle, you may hear a small noise. This is a result of the caliper pads and rotor coming into slight contact.  It is 

due to the fresh surface of the rotor and should go away within minutes. 

 

5)  The caliper is not self-adjusting and will therefore need to be adjusted as the pads wear.  If the caliper is set up properly as de-

scribed above, the pads should last a very long time and only minimal adjustments will be needed. 

 

 

 

 

 

 

 

 

 

 

Spidertrax Inc. 

Phone: (800) 286-0898 

Web: www.spidertrax.com 


